Math 17 - Lab 7 – Confidence Intervals for Means
	
	

	
	


In this lab, we will create and interpret confidence intervals for means. The BASIC STATISTICS>GRAPHICAL SUMMARY feature of MINITAB allows you to create confidence intervals for the population mean. You can set the confidence level to what you want.


(Question 1 – 2) Open the file AcornWeight.MPJ which represents the mass of 400 acorns we studied in Module 9.1.1.

1. Find 95% confidence intervals for the mean acorn mass. Interpret your results.





2. Find 99% confidence intervals for the mean acorn weight. Does the margin of error increase or decrease from question 1. Explain.  

(Question 3 – 7) Open the file RateMP.MPJ which represents the data from Rate my Professors that we have used in prior labs. For questions 4 to 7 you will need to use the "By Variables" option in MINITAB

3. Find a 95% confidence interval for the mean overall rating of instructors. Interpret your results.

4. Find 95% confidence intervals for the mean overall rating of instructors at each college. Compare the confidence intervals. Do they seem to be different?

5. Find 95% confidence intervals for the mean overall rating of instructors by gender. Compare the confidence intervals. Do they seem to be different?

6. Find 95% confidence intervals for the mean overall rating of instructors by hotness rating. Compare the confidence intervals. Do they seem to be different?

7. Find 95% confidence intervals for the mean overall rating of instructors by division. Compare the confidence intervals. Do they seem to be different?

(Question 8-10) Open the fileRentalCar.MPJ which represents the daily rental car prices for Hertz and Avis at selected cities. For question 9 you will need to use the command in MINITAB: STAT>BASIC STATISTICS>PAIRED t which creates confidence intervals for the difference of paired data.

8. Explain why this sample is paired data and not independent data.

9. Find 95% a confidence interval for the mean difference in price between Hertz and Avis.
10. Would it be reasonable to conclude that there is a significant difference in price between Hertz and Avis? Explain your reasoning.
